
13𝑥 − 27

5𝑥 − 1325𝑥 − 50

9𝑥 − 18

15𝑥 − 30

𝑨 𝑩

𝑪𝑫𝑬

The Sandcrawler Find the area and perimeter of 𝐴𝐵𝐶𝐸.



The Sandcrawler Find the area and perimeter of 𝐴𝐵𝐶𝐸.

13𝑥 − 27

5𝑥 − 1325𝑥 − 50
25(𝑥 − 2)

9𝑥 − 18
9(𝑥 − 2)

15𝑥 − 30
15(𝑥 − 2)

𝑨 𝑩

𝑪𝑫𝑬

12(𝑥 − 2)20(𝑥 − 2)

Since both 𝐴𝐵𝐷 and 𝐷𝐴𝐸 are 3-4-5 triangles, they are
similar and form a right angle at 𝐵(𝐷𝐸 (with 𝐸𝐶 and 𝐴𝐵
parallel lines).

So,     5𝑥 − 13 ! + 12𝑥 − 24 ! = 13𝑥 − 27 !,
169𝑥! − 706𝑥 + 745 = 169𝑥! − 702𝑥 + 729,

4𝑥 = 16,
𝑥 = 4. 

So, 𝑃 = 57 + 40 + 25 + 18 = 132 and
𝐴 = "

!
57 + 18 ×24 = 900.

𝒙 = 𝟒
𝑷 = 𝟏𝟑𝟐
𝑨 = 𝟗𝟎𝟎



Area = 300 m2

Area = 168 m2

The 𝒙-Wing

14 m

𝑥



The 𝒙-Wing

Area = 300 m2

Area = 168 m214 m

𝑥

𝑦

Area = 84 m2
7 m

𝑤

𝑦

𝑤 = !"#
$
= 24 m

𝑦 = 24% + 7% = 25 m

𝑋

𝑦
&''
(

𝑋% + &''
(

%
= 25% = 625

𝑋) + 90000 = 625𝑋%
(𝑋%−400)(𝑋% − 225) = 0
𝑋 = 𝟐𝟎 m   or   15 m 𝑥 = 2×20 = 40 m



The Millennium Falcon

56 m

Find the area.



The Millennium Falcon Find the area.

566 = 𝑟6 + 2𝑟 6 = 5𝑟6

𝑟6 = 78!

7

Area = 9
:
𝜋𝑟6 + 𝑟6

= 9
:
𝜋 + 1 × 78!

7
= 2105.005
= 2105 (4 𝑠𝑓)

56 m

Area = 2105



The Tie Fighter

P = 24

A = ?



The Tie Fighter

P = 24

A = ?24 = 5𝑟 +
2𝜋𝑟
4

+ 2𝑟 , + 3𝑟 ,

= 5 + -
,
+ 13 𝑟

𝑟 = ,.
/0!

"0 12
= 2.36

𝐴 = 1
,
3𝑟 + 𝑟 ×3𝑟 − 1

.
𝜋𝑟,

= 6 − -
.
𝑟,

= 29.004
= 29 (2 𝑠𝑓)

𝑟

Area = 29





𝑥 = 4
𝑃 = 132
𝐴 = 900

𝑦 = 25
𝑥 = 40

𝑦

𝑟 = 25.0 m
Area = 2105 m2

𝑟 = 2.36
Area = 29

𝑟


